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Backlash c E é
Characteristic 1 = Standard g ] 5
S = Standard 0 = Reduced (MF) Tg O
R = Flange with No. of stages 25 2
slotted holes 1 = 1-stage g 2 g
(SPY 2 = 2-stage o 5
3 = 3-stage Clamping hub o 2 g
(TP* MA, SPC*/ | diameter* §2 ©
Product type Size SPK* TPC* / TPK*) 9 i 3
Sp 060 - 240 g% ¢
TP+ 004 - 500 5 2 %
SK* 060 - 180 Output type [$) $ s
TK* 004 - 110 0 = Flange (TPC* / TPK?) 2e £
TPK* 010 -500  Gearbox model 2 = Splined shaft (DIN 5480) s 5 s

SPC* 060 - 180 F = Standard (SPC* / SPK* / VS*) S % =

TPC* 004 - 110 A = HIGH TORQUE 3 = System output = % S "
VS* 050 - 100 (TP*/ TPK*) (TPC* / TPK*) £ *g 'g *(%
C = HIGH SPEED _g o 'g g
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(zs 1] [20 of - [38][3][2] - [1 0 0 of - [R[1][] - [3 0]
| | | |
Type Module Feed force Flank
ZST =Rack 200 =2 mm 4 = Level 4 direction
300 =3 mm 3 =Level 3 Length Screw length [mm]
400 =4 mm 2 =Level 2 [mm] INIRA® clamping* _5
500 = 5 mm 1 = Level 1 Helix angle s
600 = 6 mm Positioning 19.5283° 3
800 =8 mm accuracy S
4 =level 4 S
3=Level 3 Bolt pattern - 2
2 =Level 2 _=125mm 29
1 =Level 1 1 =62.5mm g2
Smooth 3 = 62.5 mm (INIRA® pinning / adjusting) g3
operation 4 =125 mm (INIRA® pinning / adjusting) 48 3
4 - Level 4 5 =125 mm (module 4 mm, M10 screw) % %
C =62.5 mm (INIRA® clamping / pinning / adjusting) o
8 =Level3 D = 125 mm (INIRA® clamping / pinning / adjusting) 2 g
2 =Level 2 8 ©
1=Level 1 ii °
Pinion
RMF| [20 o - [4][4][3] - - [0 6 3] - [12xmg]
| | | |
Module Feed force Flank hole pattern (RMF)
200 =2 mm 4 =Level 4 direction
300 =3 mm 3 =Level 3
400 =4 mm 2 =Level 2
500 =5 mm Helix angle
600 = 6 mm Positioning 19.5283°
800 = 8 mm accuracy
Product type 4= Level 4 Interface diameter [mm]
RMS = pinion mounted on 8 ~=lLevels
) 2 =Level 2
splined shaft
RMF = pinion mounted on
flange Smooth Number of teeth
RMW = pinion mounted on operation
welding interface 4 = Level 4
3 =Level 3
2 =Level 2
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